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First Year (T.D.C.) Science Examination, 2018

COMPUTER SCIENCE
(Computer Oriented Numerical Method)
Paper—III

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@us-37) [Marks : 10
Answer all questions (50 words each). -
All questions carry equal marks.
Wi W S ¥ | v e o SR T v 3R 7 2
Tt gl & e wEE
PART - B (@Wvus-v) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks,
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PART - C (@us-w) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks.
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PART - A

(@us-3)

1. Answer the following questions :

Frefafea woet & ST ST :

(i)

(ii)

(iii )

(iv)

(v)

Write 2-3 lines on floating point numbers.

wefen TR dem W 2-3 ufwat fafed |

Define successive aproximation method.

Successive aproximation method =t TReIfé@ ifsTT |
What is mean by ill conditioned equations.

111 conditioned Weffetall ¥ T T &2

What method do you think is the best for finding
solutions in equations.

TRl F T 99 @ % fag s fER @ S
i Ted TS §?

What is mean by stability of solution ?

T F Tt ¥ T R 2
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(vi) Difference between Lagrange interpolation and
difference table.
Lagrange interpolation T3 difference table ¥ 7<% oy
i |

(vii ) What is mean by truncation error ?
Truncation error ¥ =1 31y &2

( viii ) Define curve fitting.
Curve fitting ! 9ftuifya =i |

(ix) Define Simpson's rule.
Simpson's rule ! TR e

(x) Difference between differentiation and integration.

differentiation TS integration ¥ 3R T8 Fife |
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PART - B

(@us-)
UNIT -1
(FTE-1)

2. Find a root of equation x> — 2x — 5 = 0 between (1.75, 2.5)
by false position mthod upto 3 place of decimal. 5
T X3 — 2x — 5 = 0 &1 (1.75, 2.5) & 94 false position
mthod ¥ SIHAT & 3 3{ehi T ol 14 hifS(C |

OR ( 319ar)
Write a note on Bisection method. 5

Bisection method T feuroht fafea | -

UNIT - II

(3®TE-11)
3. Discuss the Gauss seidel method for the solution of

simultaneous equations. : 5

Simultaneous THEUN sl Gauss seidel method ¥ & I FA
1 foa=m SifsT
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OR ( 3t¥ar)

Write a note on comparision of direct and iterative method.

Direct T iterative method %! g1 W feoroft farfigd | 5

UNIT - 11

(3HTE-1I1 )

Explain the Euler's method of solving oridinary differential
equations. Develop the algorithm of method. 5
WA differential equations ! T % T Euler's method
ﬁﬁaﬁmmlwmaﬁAlgorithm +t fafad |
OR ( 37ef@r)

Use the Runge-Kutta method to solve :
Runge-Kutta method & 1 %! wtet ®ifsru :

10% =Xt »(0)=1

for the interval 0 < x < 0.4 with h=0.1 5
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UNIT - 1V

(FHTE-1V)
32 ay . !
Given s —1=xy and y(0) = 1, obtain the Taylor series for
y(x) and compute y(0.1) correct to four decimal places. 5

T %—hxy 9 y(0) = 1 & fow Terx TS =t HOA

FIFTT 21 y(0.1) 1 HH TUHAS 3 A T qeh [ RifoC |
OR ( 3traT)

Write a note on Lagrange's interpolation. 5

Lagrange's interpolation T wferet feoqoft fefad |

UNIT -

(3TE-V)
Compute the value of = _[:1+ = by using the trapezoidal
rule with h = 0.125. ; 5
= v am fefag @ 1= £ T

h = 0.125 AFJ §Y trapezoidal method | T HifsTC |
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OR ( 3tgar)
Write a note on Simpson's rule. 5

Simpson's rule T feuqoft fafgd |
PART - C
(Tve-w)
UNIT - I
(¥T8-1)
(a) Prove that N-R method is a second order.

(b)  Write a note on arithmetic operations with normalized

floating point numbers. 4+3.5

() g T 7 N-R method fidta @1t =7 2|
(¥) Normalized floating points % WY arithmetic operation
W feamf fafed |
UNIT - I
(3&TE-11)
Solve the following set of equations by Gauss elimination
method. 7.5

=1 wftetoll % w9 M Gauss elimination method & W&
i |
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5x—-2y+tz=4
Tx+y-52=8
3x+7y+4z=10
UNIT - III
(FehTE-1II)
9. Write a note on predictor-corrector method. 7.5

Predictor-corrector method W fewoft fafed |
UNIT - IV
(FE-1V)
10. The following values of x and y are given. Find y(0.543). 7.5
frefefiaa x 99y % A % T y(0.543) ST 0 B :

X 0.1 02 | 03 04 | 05| 06 0.7

y(x)| 2.631 | 3.328 | 4.097 | 4.944 | 5.875 6.896 | 8.013

UNIT -V
(3%E-V)

11. Write a note on Guassian quardature. 15

Guassian quardature W feoroft fafed |
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